2.5 Practice Set

1. Why do we rationalize denominators?

2. What role does the conjugate play in rationalizing the
denominator?

3. Does rationalizing the denominator change the expression? Why or
why not?

Find the conjugate of each of the following expressions.

4. a+b

5. 13 ++x

6. Vr — /s

Rationalize the denominator and simplify if possible.
Assume that all variables represent positive real numbers.
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Distributed Practice Problems

Perform the indicated operation and/or simplify each of the following.
Assume that all variables represent positive real numbers.
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bV108a5b2 — aV/32a2b5 + abV4a2h?

i/2x7y2 - ‘{/8xy3
(V11y — 7v3x)({/11y + 73x)
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